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[loemopsiem:

e)|3—g|+|g—-9|=8;

3—g=0; g—9=0;
g=23 q=9
(-oo:3)  [3:91 (9. +xm)
B
+ -3 —— 9 —+
1xe (—w;3) M x e [3;:9] Nx e (9 +wx)
3—g—(g—9)=8§; ~B-g)—(g-9) =8 ~B-g)+tg-9=§
3—g—gt+9=8§; -3+tg—g+928; -3+g+g—9=8;
—2g+12=8§; 0-g+6=8; 2g—12=§;
—2g=8-12; 0-g=8-6; 2g=8+12;
—2g=-4; 0-g=2; 2q = 20;
g =2; Het pemenna g = 10;
(~o0; 2] [10: + x)
— | > | —
2 3 9 10
(—ao; 2] [10; + ao)

Oteer: (—o0; 2] v [10; + oo)
Pemure HepaBeHcTBa:

o x+2|-|x-3|>2¢-1

Orser: * < 35
, ¥+ 2x-1|-6<0;
OrtBeT: (1 - JE; 2)
, ¥*+|x-3/-9<0:
Ortser: (=2; 3)
4. HaiiguTe Bce IeNbIe YNCIA, YIOBIETBOPAIOIINE HEPABEHCTRY X2 < 13 — |x — 7|
Omser: ~15 03 1

5. PCI.HI/ITC CI/ICTCMy nu COBOKyHHOCTB HCpaBeHCTB
|2x-3|<1,

x%2 —4x+320:

x2 -3x+220,

|2x-3| <1;

OtgeT: a) X = 1,6) x € R;



